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Introduction

The paper has seemingly been well received by students in terms of coverage and structure
of questions. Very few students left blank spaces and so were able to offer an attempt

to answer all questions. The quality of answers provided was also of a generally good
standard. Students and centres are clearly increasingly happy with the style of questions
and are also developing a good understanding of what the questions are asking.

Both essay questions were answered well, with both sound and appropriate content and
structures that facilitated access to the top bands.
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Question 1 (a)

A straightforward question that was well answered by the majority of students with many
scoring the maximum of 4 marks that were available.

Question 1 (b)

Not a particularly well answered question by some candidates. Students who did score well
correctly identified that leisure is a time concept and so active leisure is a time concept that
will involve physical activity. Similarly answers that scored the second mark for explaining
what recreation is, identified that recreation is the use of leisure time.

Question 1 (c)

A well answered question with many students scoring the full 4 marks. Students did often

fail to grasp the link between 1a and 1c however!

(c) Give four reasons for the decline in active recreational activities.

(4)
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ResultsPlus Q ResultsPlus
Examiner Comments Examiner Tip

Marks were awarded for all but the second
answer given by the candidate; the question
asks for reasons for a decline in active
recreational activities. Consequently unless there
is evidence that there are now more disabled
people than before, this is not a valid point.
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This candidate has been given "The benefit
of the doubt" by the examiner, particularly
for the first point, fitness. The assumption
has been made that the candidate is
referring to "A lack of fitness" as a reason.
Candidates should avoid this by stating
exactly what they mean in an answer.




Question 2 (a)

This questioned differentiated well. Almost all students identified what health is, many
provided a suitable explanation for exercise, however fewer were able to identify that fithess

is a sport related concept.

More able candidates identified that exercise plays an essential role in the maintenance
of both health and fitness, but separately, taking into account the differences between
health and fitness. Poorer answers simply linked health and fitness together as if they were

synonymous.

plays in helping to achieve fitness and health.

Health is defined as
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Examiner Comments

The marks were allocated as follows:

1 mark awarded for a good definition of health,

0 mark for definition of Fitness. It fails to specify a sporting
environment and so is too vague

1 mark awarded for an excellent definition of exercise,

1 mark awarded for explanation of how exercise can aid
health but the explanation of how it aids fitness is too vague.

2 (a) Define the terms health, fitness and exercise and explain the role that exercise
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Examiner Tip

N
Q us
Ensure that candidates are
aware of accurate and succinct
definitions of all terms, these are
often "lead ins" to questions and

facilitate additional marks later on
in the question.
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Question 2 (b)

This part was well answered. The majority of students scored at least one mark for
identifying how it is possible to be fit and not healthy. Many students also scored the second
mark by clarifying how it was possible to be healthy and not fit.

(b) Explain how it is possible to be fit and not healthy and healthy and not fit.
(2)
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Examiner Comments
This candidate scores both available marks, clearly identifying
that a Sumo wrestler is fit for sport but not healthy as he may

be obese. Also, stating that by going to the gym and being
healthy, you might not be "fit" for something such as Sumo.

)

Examiner T|p

By structuring the answer as the candidate has, both
the candidate and the examiner can see that both
parts of the answer have been attempted.
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Question 3

A well answered question with all students scoring some marks. The weakest area was
neuromuscular, which many candidates left blank. Some candidates lost marks for failing to
identify which was a response and which was the benefit from the response. i.e. increased
muscular elasticity is clearly a benefit to the increased temperature of the muscle fibres (the
response). However some candidates stated these but the opposite way round.

3 Identify four likely responses experienced by each of the body’s systems during a
warm up. For each identified response you should state the physiological benefit.
(8)

Musculo-skeletal system

Response
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Cardiovascular system
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Respiratory system
Response
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Examiner Comments

By getting the response wrong in the first answer the
candidate is unable to score the subsequent mark for the
benefit. One mark is awarded for the cardiovascular response
and a benefit of the doubt is awarded for the benefit.

A

ResultsP

Examiner Tip

Check that you understand what a question is
asking of you before attempting to answer it.
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Question 4 (a)

A straight forward question that was very well answered by almost all candidates.

4 (a) Warming up encourages responses, training encourages adaptations.
Identify the difference between a response and an adaptation and provide an

example of each.
(3)
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Examiner Comments

Two marks only were awarded for this answer. The
clarification of a response being short term and an
adaptation being a long term change scored one mark, the
example of a response e.g. increased production of synovial
fluid, also scored a mark. However there was no adaptation
example given and so a mark was lost.

)

ResultsPlus
Examiner Tip

Be aware of what the question asks of you.

Ensure that you structure your response to cover
all necessary points.

Question 4 (b)

This was another question that differentiated well. C grade candidates and better scored at
least 4 out of the available 5 marks; scoring for the method of training, at least one mark

for characteristics and both marks for adapting the method to an endurance and a power
athlete.

Poorer answers contained vague descriptions of the methods of training and applications
that contradicted the method chosen, stating things like; “would work at different but higher

intensities” when referring to training for a power athlete but when the identified method
was continuous.
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Question 5

The question was on the whole well answered. Students felt confident with what the
question was asking and also with how to structure their answers. This was evident with the
amount of appropriate content that candidates provided, and also with the marks that were
being awarded.

Students are clearly being better prepared for essay type questions with some very good
structures evident. A common structure adopted by many students was to identify an
understanding of what a sedentary lifestyle is, why it is a contemporary issue for society, its
links to other illnesses and the impacts upon society, then they were able to access the top
mark bands.

Very few candidates misunderstood the question and failed to score any marks.
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ﬁ ResultsPlus

Examiner Comments

This answer contained a relatively common structure
adopted by many students. It identified early on
what a sedentary lifestyle is, why it is a contemporary
issue for society, its links to other illnesses and the
impacts upon society. As a result of this the answer

Examiner T|p

Enure that you response is
structured so that all the required
information is presented.

was able to access the top mark band.
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Question 6 (a)

Most candidates scored three marks for identifying three characteristics. Less able
candidates failed to describe the characteristics or provide any link from the characteristics
and society / the period.

6 (a) Identify and describe three of the main characteristics of popular recreations prior

to the Industrial Revolution. o
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Examiner Comments

This is an example of a candidate only doing part of
what a question asks. Three marks have been awarded
for the characteristics but a lack of description prevents
the awarding of the additional marks

)

Examiner Tip

Before attempting to answer the question
make sure that you understand what the
question requires you to do.

GCE Physical Education 6PEO1 01



Question 6 (b)

Students who scored well with this question tackled each of the 3 concepts separately and
clearly, providing examples of each. Where students struggled to score they wrote about
all three terms together or used the terms themselves to explain them, i.e. “"Sponsorship is

when a company sponsors someone...”

(b) Explain the terms sponsorship, advertisement and endorsement and provide

examples of each,
(6)
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Examiner Comments

Three marks were awarded here for three accurate
explanations of the three terms and also an additional
three marks were awarded for 3 appropriate examples
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Question 7 (a)

A very well answered question that allowed most students to score many, if not all of the
available marks.

7 (a) Explain and give an example of the concepts of sportsmanship and
gamesmanship within the context of sport.

(4)
Sportsmanship
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Examiner Comments

This answer scored all the available marks except for the
example of Gamesmanship. The explanation of the term
stated "bending the rules" but their example of performance
enhancing drugs is most definitely cheating.

Examiner Tip

Ensure that all of your answers to
questions relate to, and fit with, the
definitions that you provide.
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Question 7 (b)

This question was well answered by most candidates who demonstrated a clear
understanding of the link between financial gain and deviant behaviour.

(b) Give four reasons why the move towards professional sport has been associated

with a growth in gamesmanship and deviance in sport.
(4)
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Results#
Examiner Comments

This answer scores well. The answers are clear,
concise and accurate. Four marks were award.
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Question 8

A mixed question. Many students took advantage of a good understanding and applied
themselves well, yet succinctly, to the question, scoring very highly and also quite quickly.

Most candidates were able to identify all of the appropriate agencies and mostly appropriate
strategies. The more able candidates were able to add the impact of these strategies and
scored close to maximum marks for this part of the question.

The majority of candidates were able to identify that a lifetime sport is one that enables you
to participate in regardless of age. They were able to identify an appropriate example, with
golf, badminton and swimming being the most common. They were also able to add that
these sports were self-paced / less physically demanding.

Some, but only a minority, misunderstood and referred to lifetime involvement in sport,
referencing the LTAD and coaching post retirement age.

8 (a) Identify three UK agencies responsible for participation at the different levels of
the sporting pyramid. For each agency identify a strategy it has used and explain
its impact on participation.
(9)
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(b) Using a sporting example of your choice discuss what is meant by the term
lifetime sport.
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% ResultsPlus
Examiner Comments

This candidate has got the agency wrong for the first two
examples and as such cannot score the additional marks
for strategy or impact.

Three marks were awarded for Life Time Sport; for young
to old, golf, and does not require high levels of fitness.

Q ResultsPlus
Examiner Tip

Be aware of the importance of getting the first
part of questions right in order to access the
other marks that are available
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Question 9

Again this essay was on the whole answered very well. Students who scored well were able
to identify the changes that the Industrial Revolution had upon society and then related
these to the changes in, and the development of, sports. The top answers also identified
that initially the Industrial Revolution had a detrimental impact upon sport but later the
changes to society brought about more positive sporting developments.

Poorer answers simply stated what happened to sports, almost ignoring what had caused
the changes. Some answers ignored the Industrial Revolution and instead spoke about the
public schools, Oxbridge and how sport was diffused across society. This reinforces the need
for students to answer the question that is set rather than the question that they want to

answer.

*9 Discuss the role that the Industrial Revolution played in the development of sports.
(12)
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Examiner Comments

The answer shows some understanding of the focus

of the question but there is some irrelevance in the
answer. Codification is mentioned and it has links
from the effects of the industrial revolution and the
impact that these had upon sport. This enables it to be
scored in the top bands. But it loses marks because it
lacks enough accurate factual material.
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Paper Summary

Candidates need to be aware of;

® accurate definitions to terms referred to in the specification,

® providing answers that attempt to answer all parts of the questions,
® what is being asked and

® ensuring that their answers support the definitions that they have provided.
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Grade Boundaries
Grade boundaries for this, and all other papers, can be found on the website on this link:

http://www.edexcel.com/iwantto/Pages/grade-boundaries.aspx
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